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=1 qe 150 o sgereh 61 e 120 2
) WEh! < HH BRI :

(1) 140
() 15
(3) 135
4) 30

Word n YThfash T@AAl 1 WiRd HIed
e 3T W H7Td §EATd &, BT

(1) 3@ @+ 1)

) -;-(2n+1)

3) 30+ 1)

(@) Tmn+1)En+1D)

TgeIeh I T8I A1

(1) wgcleh = 3 HEThI — 2 HIHA
(2) a@%:ﬁm—m
(3) TEEAS = 2 HEAH] — 3 AT

3 HEhT — 2 AT
2

(4) dgcTsh =

wfrest 3 ITHR F Fed W i 7
BRI

(1) sedi@ |
(2) T2 |
(3) TR AR |
(4) 15 ST TE |

[n a moderately asymmetrical
distribution the value of mean is 150
and value of mode is 120. The value of
median will be

(1) 140

2) 15

(3) 135

(4) 30

The weighted arithmetic mean of first

n natural numbers, with weight being
the corresponding number is

1) 3@+ D)

) ‘:1;(2n+ 3

@) 3@+

(4) %(n)(n +1)(@2n+1)

Which is correct measure of Mode ?

(1) Mode =3 Median —2 Mean
(2) Mode = Median — Mean
(3) Mode =2 Median — 3 Mean

3 Median — 2 Mean
2

(4) Mode =

With increases in sample size, the
sampling error usually

(1) Increases
(2) Decreases
(3) Becomes double
(4) No effect
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W 10 SThfash TEAIS HT YA
IEENER:
(1) 2.87
(2) 8.25
(3) 100
(4) 10

g Tmtor w1 feer <t fafa o 2
(1) S fEfa

) = sfimfa

(3) 3fmfa @ @@=

(4) St gt gt sfmfa

‘g wiiferra gfem’ 6t sreferaean =1 &
qalay €9 4 &g Thd &

(1) 3nfen sreferaen

(2) TSR Teferae

(3) fufdra sref=aen

(4) heirreha FrRIfSm siefeesa

TraIe =1 7 gfg B % S0
(1) LM =k erfeft 37 feerd & |
(2) 1S =6 grfeet 3R foed Bhm |
(3) LM % aT¢ AR ferard &I |
(4) 1S =3k 918 3R foad g |

o o @ 3 T1 arftrfeass St &1 SR
TR ?

(1) THT 9T BT

(2) 3ERE

(3) gr@ fmio

(4) e w5 gk e

The standard deviation of first 10
natural numbers is

(0 287
(2) 825
(3) 100
4) 10

Fisher’s method of index construction
has

(1) Upward bias
(2) Down bias
(3) Free from bias

(4) Both upward and downward bias

The Economy of the Former Soviet
Union in best described as a —

(1) Primitive Economy
(2) Marked Economy
3) Mixed Economy

(4) Centrally Planned Economy

An increase in Public Expenditure
Leads to —

(1) Rightward shift in LM curve
(2) Rightward shift in IS curve
(3) Leftward shift in LM curve
(4) Leftward shift in IS curve

Which of the following is not function
of commercial banks ?

(1) Receiving deposits
(2) Advancing loans
(3) Credit creation

(4) Determining the repo rate
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11.

12.

13.

“rp51 a1 =0t 2 o farfamr 3 mmem % w9
A g WieR 6 S g 3 S
w1 T 9o % U G e & WUE
% Wt S B 17 g R I R
fredia ?

(1) 3R

(2) Tedaa

(3) wmEE

(4) H=

afe 3= W g1 1w # 9f A 2,
<l 1T b g

(1) =t |

(2) =i |

(3) raf@Efd @it |

(4) & SR |

STHER &9d TS hl THE ST ITHE
EIRSIGIRS

(1) M,
(2) M
(3) M, dM,gHi |

4) M,

= | 9 forg T g1 wae’ el Sl
87
1 M,

2) M,
(3) M,

4 My

ok
=

1.

12.

13.

“Money can be defined as anything
that is generally acceptable as a means
of exchange and at the same time acts
as a store of value.” Who has given
this definition of money ?

(1) Crowther
(2) Robertson
(3) Marshall
(4) Keynes

If the quantity of high powered money
increases, then the supply of money
will

(1) Increase

(2) Decrease

(3) Unchanged

(4) Zero

Total Deposits of Post Office saving
organisations are included in

(1) M,
(2) My
(3) M, and M; Both
4 M,

Which one is known as ‘Aggregate
Monetary Resources’ 7

(H M,
2) M,
() M;
(4) My
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15.

16.

17.
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TTHTT GLen 3i9eH Fre %1 3R
(1) SrETe JAfs

() w@-Tgei i it 3

(3) =TT 6 afagfd

(4) Tomifira 3emi & @

aRa ¥ wreia faesht fanfaat 6 o

refafaa w1 3w e :

(1) 9Ha o =ie] J9e A

(2) wa gru fereeit & swfvia wee e

(3) DTy T =T FR@o

(4) WA % T Femh s 5
arfesfires

ST e % STTE IE TEH 361G 3R
HIE AT o SATER G TP 3¢TG I
a2

(1) ferest & 3@ =1eH 3=

(2) TR St 1 3w

(3) I[E ST

(4) afdaer Toa&

sufdaTTa 3T &Y AT H, GHR W g
T 8F 1 TR A H e
il

(1) =& e

(2) e @l dTiCAtheR

(3) TS qUT SIS W=l

(4) e qn Heigdl

15;

16.

17.

Social security contributions are part

of
(D
(2)
3)
4)

operating surplus
mixed income of self-employed
compensation of employees

profits of corporate enterprises

The incomes of foreign nationals

working in India are a part of
(1
(2)

domestic factor income of India.

factor income earned from abroad
by India.

3)

current transfers from abroad by
India.

4)

Compensation of employees of
normal residents of India.

The difference between net national
product at market prices and net

national product at factor cost is

(1) Net factor income from abroad
(2) Consumption of fixed capital
(3) Net indirect taxes

(4) Personal direct taxes

For calculating personal income

government’s transfer payments 10
households include

M
@
3)

Factor payment
Compensation of employees

Pension and

allowance

unemployment

(4) Salary and Wages
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(3) T
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frg # A SN @ =R e 6
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(1) 37 (i)

(2) W=

(3) TR

(4) 3T (1) TUT TLeh

318 - Taepfira <ot <1 ferdiwan 2
(1) wyad 39 § aRey g 3=
GEEIE RS

(2) Tge e I =W
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(1) ST ggrehifd

(2) et g3 FETEhITd

(3) Tweht g3 ggrehifr

(4) = g8 gErEhifd
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19.

20.

21.

Which of the following is not included

in national income ?

(1) Mixed income of self-employed
(2) Wages and Salaries

(3) Dividend

(4) Sale of shares by Ato B

Which of the following is an example
of a trade restriction ?

(1) Quotas

(2) Tariffs

(3) Dumping

(4) Quotas and Tariffs

Which is the characteristic of under-
developed countries ?
(1)

Surplus in Balance of payment
and advanced technology level

()
3)

Zero level of absolute poverty

Export of advanced technology
and low dependence on primary
sector

(4)

Low per capita income and
backward technology

When the rise in prices is very slow
like that of a snail is called —

(1) Hyper inflation
(2) Running inflation
(3) Creeping inflation

(4) Walking inflation
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freffeqd d R T adi TEi 8 ?

(1) afe awgatt &1 Fafa, g
s 8 e 2, @ 9 @
FHTEYTh B9 § e ® Eh |

(2) =UR I GEgsnt & FEld AR
3T ST ST @ |

(3) SATIR 3Y, =Te] W HT WA 2 |

(4) =Te @, YAE Jger & AT
2

A Heer o dofl WTd 1 = & B
a1 e A8 2 7

(1) ITeshren Yot fafmm

(2) refenTefia geft faf=m

(3) SDR (fasr smmator 3ifersei)

(4) forcsft fafmma am

3T T TG e, TGS h i
oo  3feres 2, df ag gl @

(1) =R iy

(2) SR =1

(3) el ETar ARy

(4) ST @rdrEreT
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AR firargena

(1) e = =am <t gedt g8
21

(2) = SR i gt Sed g8 sl
21
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23.

24.

25.

Which of the following is not correct ?

(1) If exports of goods is greater than
imports of goods, then current
account will be necessarily in
surplus.

)

Balance of trade indicates exports
and imports of commodities.

(3) Balance of trade is part of current
account.

4

Current account is a part of
balance of payment.

Which is not the component of capital
account of balance of payment ?

(1) Short term capital investment
(2) Long term capital investment
(3) SDR (Special Drawing Rights)

(4) Foreign investment income

If value of imports of commodities is
greater than value of exports of
commodities, then it shows

(1) Trade surplus
(2) Trade deficit
(3) Current account surplus

(4) Current account deficit

If indifference curve is downward
sloping straight line, then

(M

Marginal rate of substitution is
decreasing

()

Marginal rate of substitution is
increasing

(3) Marginal rate of substitution is
constant

(4) Marginal rate of substitution is
zZero
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27,

28.

29.

rster X g1 <l dir ST S HE
2

(1) =S |

(2) T g |

(3) =R

(4) 3

iy aREda 1 SRrETa T g
(1) 9dTcH

(2) ZRUMIcHh

(3) ;A

(4) ©ATCH T HEUTHS & T & |

g seferasar & Tl A e W
feram Sifsw

A TH

B. @ SR i Foramd

C. wrdfIeh 0T

D. HEde 3Imm

e 1 @ i o wifgs Aifa wram e 2
(1) =Had A

(2) B,CaAD

(3) AT B

(4) A, CTATD

fop=r 1 @ B =1 Rl v T S &
TR 7

(1) ST =Bl 3607 &1 |

(2) ek % e Wl fFeR T |

(3) FEIT TR hl HUE ITR &1 |
(4) THRI Fiav(d = Elig |

|

26.

27,

28.

29,

Marshall assumed the marginal utility
of money

(1) Increasing
(2) Diminishing
(3) Constant

(4) Infinitive

The Substitution effect of price change
is

(1) Positive

(2) Negative

(3) Zero

(4) May be positive or negative

With reference to Indian Economy,
consider the following :

A. Bank rate

B. Open Market Operations
C. Public Debt

D. Public Revenue

Which of the above is/are components
of monetary policy ?

(1) only A

(2) B,Cand D
(3) Aand B
(4) A,CandD

Which of the following is NOT an
activity of Reserve Bank of India ?

(1) Making Loans to the public

(2) Clearing Bank’s cheque

(3) Lending Funds to  Central
Government

(4) Purchasing Government Securities
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33.
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F1 = Ty~ arfereprl wrem 4, yow v
&1 ITe 1 e g 2

I
(M 3

—

[§]

—
L]

—_

LS ]

Vot
I

Irerferenr <h fasear 181 8

(1) At i gre et

(2) Tasra @mTal =1 TEd

(3) shar T fesharat <1 st w@n

(4) eafoeert &% #wim @k i
AT

e {4 gfades (HDR) 1 YhH
fema SITam 8

(1) UNDP
(2) WTO
(3) World Bank

(4) IMF

HDI 1 whi= &1 u1eeh (W) & & ?
(1) Sfted g

(2) HneRa

3) Fggg =

(4) wfa=afaa s

|

30.

31

32.

33.

In Cournot duopoly solution, the share
of each firm in output is

I
(1) 3

(2)

|2

1
G) 3

e

Q)

Which is not the feature of oligopoly ?
(1) Interdependence of firms

(2)
3)

Importance of selling cost

Large number of buyers and
sellers

Indeterminateness of demand

)

curve facing an oligopolists

Human Development Report (HDR) is
published by

(1) UNDP

(2) WTO

(3) World Bank
(4) IMF

Which is not the component of HDI ?
(1) Life expectancy

(2) Literacy

(3) Infant Mortality Rate

(4) Per Capita Income
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(2) HEEH-3-8h gl
(3) TH.E. HE g
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(1) RBITeR

2) o =, va wER
(3) =IuE, Hifa smm
(4) oo afaa, ¥ra aTHR

fava e wyg o1 IR @
(1) IBRD

(2) IFC

3) IDA

(4) RBI

WTO Af&iea ¥ 31/
(1) 1990
(2) 1948
(3) 1995
(4) 1991

‘SEifEahE o’ veE ST WlddTed
forgm fopat 2

(1) =ed SRS
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(3) Teeda

(4) Stehe AIER
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| 34,

3S.

36.

3,

38.

Physical Quality of Life Index (PQLI)
was invented by

(1) AK.Sen

(2) Mahbub-Ul-Haq
(3) M.D. Morris
(4) G.M. Meier

In Board of Governors of IMF who is
Ex-officio governor from India ?

(1) RBI Governor

(2) Finance Minister, Govt. of India
(3) Chairman of NITI Aayog

(4) Finance Secretary, Govt. of India
Which is not in group of World Bank ?
(1) IBRD

() IFC

(3) IDA

(4) RBI

WTO came into existence

(1) 1990

(2) 1948

(3) 1995

(4) 1991

Who coined the term ‘Demographic

Dividend’ ?

(1) Charles Kolstad
(2) David Bloom
(3) Robertson

(4) Jacob Viner
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Wia § 2019-20 % CUH H&8 3AH
FDI st s fore & e 7

(1) et TS T FTEa3T

(2) Garem

(3) Q-HAR &

(4) AR &

dgereRt 1 sreerar # g fasies g
$ U (2009) % IR WRA H
2011-12 § T &7 3199H 2

(1) 21.9%

2) 37.2%

(3) 25.7%

4) 13.7%
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39.

40.

41.

42.

During 2019-20, highest FDI equity
inflow in India was in

(1) Computer software and hardware
(2) Service sector
(3) Tele-communication sector

(4) Trading sector

As per Report of Expert Group headed
by Tendulkar (2009) the poverty
estimate for India for 2011-12 is

(1) 21.9%
(2) 372%
(3) 25.7%
4) 13.7%

Who propounded the single factorial
terms of trade ?

(1) Jacob Viner
(2) G.S. Dorrance
(3) David Ricardo
(4) Marshall

According to Opportunity Cost Theory
there will be no trade between two
countries

(1) If production possibility curve of
two countries are parallel to each
other

Slope of production possibility
curve of country A is greater than
the slope of country B

(3) If the production possibility
curves of countries are concave to
origin

If production possibility curve of
one country is convex to the
origin

(2)

Q)

o
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44.

45.

46.

Which amongst the following have not
been subsumed in the GST in July,
2017 ?

(1) Central Excise Duty

(2) Value Added Tax (VAT)
(3) Service Tax

(4) Stamp Duty

Which of the following is not correct ?

(1) GST combines both goods and

service tax

@

GST is imposed only intra-state
transactions

(3) GST has replaced VAT and other

taxes in India

(4) GST is an Indirect Tax

If MPC =
multiplier is
(H 0
2) 1
(3) Infinitive
4) 2

1, then the value of

As per Tobin’s portfolio approach to
demand for money

(1) Individuals their
portfolio by holding a balanced

diversify

combination of safe and risky

assets.

Individuals hold their all assets in

(2)

money.

Individuals hold their all assets in
bonds.

3)

Individual holds their assets in

C))

either all money or all bonds
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i 48.

49.

In liquidity trap demand for money
becomes

(1) Zero

(2) Infinitive

(3) Negative

(4) Liquidity trap has no relation with
demand for money

According to acceleration theory, if
the national income is increasing then
the net investment will

(1) Positive

(2) Negative

(3) Zero

(4) Become half

Baumol’s

transaction

assumes that

(1) demand for money is not function
of interest rate

(2)

demand for money is function of
3)

inventory
demand

approach to
for money

interest rate only

demand for money is function of
income only

demand for money is function of
both rate of interest and income
level

)

Fisher’s equation of exchange shows
(1) Direct relation between price
level and quantity of money but
not proportional

Indirect relation between price
level and quantity of money but
not proportional

Direct and proportional relation
between price level and quantity
of money

Direct and proportional relation
between value of money and
quantity of money

(2)

3
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52

53.

Who said “Inflation is always and every

where a monetary phenomenon” ?
(1) Milton Friedman

(2) Marshall

(3) Keynes

(4) Pigou

Which is correct about Phillips curve ?

(1) Long run Phillips curve shows a
trade-off between unemployment

rate and inflation rate

(2) Long run Phillips curve negative
relation between unemployment

rate and inflation rate

(3) Short run Phillips curve is a

vertical straight line

(4) Long run Phillips curve is
downward sloping from left to

right.

Which of the following is qualitative

or selective credit control method ?
(1) Bank Rate

(2) Open market operation

(3) SLR

(4) Fixing minimum margin
requirement for extending loan

against special securities

03



54.

e p

57.

03

f=fefea & & #5 affsrs % &
T o & ol At e @ ?
(1) SH&

(2) CRR

(3) SLR

(4) B e

et W s stfee ferass g
THd fRI ST @ & 7

(1) =fifa 3w
) foa mae™
(3) CSO
(4) NSSO

frafafaa § ¥ fr0 durofa fmm
S hi T S T erfies |iar T
27

(1) RBI

(2) CSO

(3) fa smrm

(4) gaterer fqumr

frr d @ o @ Pl W W
T /TR SR S U8 H Teh A8 & 7

(1) fereman fava Searea
(2) =TSR &1 fowar

(3) GETEHI T 3TAH FAT
(4) Targy STl <At HRago

ey
154

55.

56.

7.

Which amongst the following does not
control the credit creation capacity of
the commercial banks ?

(1) Bank Rate

(2) CRR

(3) SLR

(4) Deficit financing

Official data on poverty have been
collected by

(1) NITI Aayog

(2) Finance Ministry
(3) CSO

(4) NSSO

Which of the followings has been
given the responsibility to monitor the
progress of sustainable development
goals ?

(1) RBI
(2) CSO
(3) NITI Aayog

(4) Environmental Department

Which of the following arguments

does not support free trade at

international level ?

(1) Maximisation of world output
(2) Enlargement of market

(3) Optimum use of resources

(4) Protection to infant industry
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59.

60.

61.

62.

Which of the following assumption

has not been take in David Ricardo’s

theory of comparative cost ?

(1) Constant return to scale

(2) Perfect competition in product
market

(3) Labour’s perfect mobility within
the country

(4) Imperfect competition in factor
market

Which is correct ?

(1) Capital is stock and investment is
flow variable

(2) Capital is flow and investment is
a stock variable.

(3) Both capital and investment ar¢
stock variable

(4) Both capital and investment are
flow varible

In Keyne’s absolute consumption
hypothesis

(1) MPC remains constant

(2) MPC is falling

(3) MPC is rising

(4) MPC s zero

According to Relative Consumption

hypothesis

(1) Consumption path is reversible

(2) Consumption path is irreversible

(3) Consumption function is not
function of income

(4) Short run consumption function is
proportional

As per life cycle theory of
consumption, the consumption is
function of

(1) current income

(2) relative iIncome

(3) whole life-time expected income

(4) permanent income

03
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66.

03

Teh ThTThRTcHS Uil BH, 3Teehra
F Iria gy ) fRafa °

(1) STHT=I ST 9T St |
(2) M AT I S |
(3) =B |

(4) THAFS M S AHATE |

weRTTYreRTiER gfafimar o

(1) fd =k =1 fta 78 g @ |
(2) wH <redeeTet § IEE oy 3R
HA B |

(3) IUTE THEY B ¢ |

(4) ogE TH-gE I Ul T8
B2 |

qy AT 2019 % IFER TR H
TEE EEAT B

(1) 567.7 <@

(2) 575

(3) 565.8 AT

(4) 590.45 @@

Trer = 8 a9 2019 % R0 fehad qadeshi
3 goor femam ?

(1) 538 @@
() 540 @@
(3) 550 @@
(4) 510 @@

| 63.

P ————————— R

-
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64.

65.

06.

A monopolistically competitive firm in

short run equilibrium —

(1) will make normal profit
(2) will make abnormal profit
(3) will incur losses

(4) Any of these are possible

In monopolistic competition
(1) The supply curve does not exist

(2) Firm earns abnormal profit in the

long run
(3) The products are identical

(4) Products are not substitutes of

each other

As per livestock census 2019, the

livestock population of Rajasthan is
(1) 567.7 lakh

(2) 575 lakh

(3) 565.8 lakh

(4) 590.45 lakh

During the year 2019, the number of

tourist visited in Rajasthan was
(1) 538 lakh
(2) 540 lakh
(3) 550 lakh
(4) 510 lakh



67.

68.

69.

70.

2011 I FVAT % AR, TSRAM &
It &7 1 U @

(1) 928

(2) 914

(3) 933

4) 930

¥ =3l I U3 AN Bl I TE &

(1) Sugt 3T =5 i U1 |

(2) aferest &1 &I 3 TREr H
gffeea &6 |

(3) wiferesr & forem 3R wrferd
gffead & |

(4) et 6t 21 a¥ K 37 % w1 AT
ot ot wemra |

e gEERT TH UvE ASET %
=TTl g GTH o foTe Afgerail 6l
EULEIRE:
(1) 55a9"
(2) 584
(3) 60ad
(4) 62

AR SEAET % STER Fh(dH il
T Hehet T B 3TE 9 2019-20
grTerd 8

(1) 10.21 &M@ HUS

(2) 11 &M@ HIS

(3) 11.45 @M@ HUS

(4) 11.50 <T@ HUS

68.

69.

70.

As per census 2011, the sex ratio in
urban region of Rajasthan is

(1) 928
2) 914
(3) 933
(4) 930

Which is not the objective of Beti
Bachao, Beti Padhao scheme ?

(1)

To prevent gender based sex

selection

(2) To ensure survival & protection
of girl child

(3) To ensure education and
participation of girl child

(4) Financial assistance on the
marriage of girl above 21 age

The minimum age for becoming

eligible for old age pension for women
under Mukhya Mantri Old Age
Samman Pension Yojana is

(1) 55 years
(2) 58 years
(3) 60 years
(4) 62 years

As per the advance estimates, the

nominal GSDP for the year 2019-20 is
likely to be

(1) 10.21 lakh crore
(2) 11 lakh crore

(3) 11.45 lakh crore
(4) 11.50 lakh crore
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73

74.

03

T § HiY AT 2015-16 % AT
el Aleel1 s=rTferd i Sl 6l §@T 8
(1) 5.46 @
() 7.75 a1
(3) 76.55 W@
(4) 68.88 @M@

S =S¢ e WIHT 9 U YEee
o TereT % e e § Brenfea
frnsnw@ g ?

(1) i, atgaret @ e

(2) 2ieh, TRaqL ud e

(3) Tih, TeTeR Td TG

(4) I, ATHATST 6 WAL

w.ug. R g, AfufEm, 2019 % =t
T T sEEAl Sl AgHIET U
forfveror & Reat ety & fog ge &
27

(1) 59

(2) 1094

(3) 394

4) 499

ey fam fem (REC), wdm 3@
& =, fommm sam & faearteon
U eHTeRtoT =g feha deh Tl g
IqASH Y Gehal & 7

(1) 508

Q) 250U

(3) 208

(4) 100 HUS

=
o

72.

;A

74.

As per Agricultural Census 2015-16,
the total number of female operational
land holdings in Rajasthan was

(1) 5.46 lakh
(2) 7.75 lakh
(3) 76.55 lakh
(4) 68.88 lakh

A pilot on zero Budget Natural
Farming is being implemented in
which district of Rajasthan ?

(1) Tonk, Banswara and Sirohi
(2) Tonk, Bharatpur and Sirohi
(3) Tonk, Alwar and Jaipur

(4) Kota, Banswara and Bharatpur

Under MSME Act, 2019 new MSME
units are exempted from approvals and
inspections for a period of

(1) 5 years
(2) 10 years
(3) 3 years
(4) 4 years

Rajasthan  Financial
(RFC) provides a financial assistance
for setting of industries,
expansion and renovation of existing
ones upto

(1) 50 crore
(2) 25 crore
(3) 20 crore
(4) 100 crore

Corporation

new
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76.

77.

78.

NS FFean fhe TR W ST

T8 ?
(1) ShHeT=EIh YA et
(2) ft sy yuidan favrsa & |

(3) IeTe 3 HTeE quiaET TRl a8t

2|

(4) SO =afead a1 ITHEET ST
ITATET 1 3iftreRad ST = el

21

snifefer gfg =1 Al Hise T8l Hidl &

(1) mm o fer ufaea
(2) i qur aeigll § drasierdr
(3) o TSR

(4) %W aul goft & HeT Hi TfcwATH

&

gfe IS 9% oreed 2 dl

(1) T Sife quiaar yreeiic 2 |
(2) T ifd qoiaar ST B |

(3) e Hife qulaar smaefie 2 |

(4) Tt A gofaar sTE ? qun

e A golean gamasfi@ @ |

i §oft feefierr i feafa § fer

forformer g st & 3=t
(1) Titfzes Aife ol sremed 2 |
(2) Tifge Fifd qofaar yEEH 8 |

(3) T Hife quiaan THEEE 2 |
(4) M @ur TeeNE gEl Aifd

yHTEsiel & |

N
o

785.

76.

77.

78.

Pareto optimum is not based on which

assumption ?

(D
)
3)

)

Ordinal utility function
All goods are perfectly divisible

Factors of production are not
perfectly mobile
Each

wants to maximise his utility

individual or consumer

Solow model of growth does not
assume

(1
(2)
3)
@

Constant return to scale
Price and wages are flexible
Full employment

No substitution between labour
and capital

If IS curve is vertical, then

M
(2)

3)
“)

Fiscal policy is fully effective

Fiscal policy is completely
ineffective
Monetary policy is fully effective

Both Fiscal policy is completely
ineffective and Monetary policy is
fully effective are correct

With perfect capital mobility under
fixed exchange rate system

M
2)
3)
4)

Monetary policy is completely
effective

Monetary policy is completely
ineffective

Fiscal policy 1is
ineffective
Monetary and Fiscal policy both
are effective

completely
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(1) &9 <t afaaeiierar

(2) SLR bt *fiH1 ! gHIG T
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(1) el ST AT ST
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(1) 4 H sherdl

(2) wU A

(3) @S =4 H 9fg
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80.

81.

82.

Which is not part of financial sector
reforms

(1) Convertibility of Rupee
(2) Abolishing the limit of SLR
(3) Banking sector reforms

(4) Implementation of GST

The focus of fifth five year plan was
on

(1) Poverty alleviation and self

reliance
(2) Inclusive growth
(3) Climate change

(4) Faster Economic growth

Which time period is known as ‘Plan
Holiday’ Indian Economic Planning ?

(1) 1965-68
(2) 1966-69
(3) 1975-80
(4) 1980-85

Which Fiscal policy measure would
you recommend to cure recession in
the economy ?

(D
2)
3)
4

Cut in taxes
Increases in taxes
Increases in public expenditure

Both Cut in taxes and Increases in
public expenditure
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85.

Pra _Din

PKA PKB
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fr=r 8 @ %4 @1, 17 gaqa faem, o
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(1) T I |

(2) STEHTAT i HH HEAT |

(3) WAfiTer THT=aT 1 ST ol |

(4) GDP 3fg @ =l 10% T =@ |

Hife s 6 9w $ SR H SiE @

EEEGE
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(3) TatHT wEfie § UTs % 39-
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BAe |
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83.

84.

85.

s P
Pea  Pia

where P, , is price of labour in country

A and P, in country B. And Py,

price of capital in country A and Py

in country B.

(1) Country A will be labour
abundant

(2) Country A will be capital
abundant

(3) Country B will be labour

abundant
(4) Both Country A will be capital
abundant and Country B will be

labour abundant

Which of the following is not from 17
Sustainable Goals
(SDGs) ?

Development

(1) Poverty eradication

(2) Combating inequalities

(3) Promoting gender equality

(4) Raising GDP growth rate to 10%

Which is not correct about structure of
NITI Aayog ?

(1) P.M. of India is chairman

(2

Governing council comprise the

Chief Minister of all states
(3) Goveming council comprise Lt.
Governors of UTs
Finance Minister of India will be

)

Vice Chairman.

03



86.

87.

88.

89.

03
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87.

| 88.

89.

In monopoly which is correct
(1) MR=AVC

(2) MR =AR

(3) MR=AC

(4) AR>MR

According to life cycle hypothesis

(1) Consumption-income relation
short run is non-proportional

(2) Consumption-income relation
long run is non-proportional

(3) Consumption-income relation
short run is proportional

(4) Consumption-income relation
both short run and long run
non-proportional

in

in

in

is

If income elasticity (e, = 1) equals to

one and elasticity of substitution also
equals to one (eq = 1), then the price

elasticity (ep) will be
(1) zero
(2) «

3) 1
4 2

Which five year plan stressed on

inclusive growth ?
(1) Second

(2) Third

(3) Tenth

(4) Eleventh
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p
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X
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P

(3) MRS, <3
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(1) Srefehrel LTS |

() SCUhTE YT 8 |

(3) w1 31 R FRr el # T ST

7 ueh w1d g |

4y 1 v 3 et e A 97 |
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(1) MR =SMC

(2) MR=LMC

(3) MR=MC=P=LAC
4) SAC=LAC

24

90.

|
| 92.

93.

Consumer’s equilibrium  first order
condition is

(@) MRS, >

P

3) MRSxy<~P—'y

MU,
(4) MRS, =5

Poverty line is

(1) Measure of Absolute poverty
(2) Measure of Relative poverty
(3) Measure of Gender inequality

(4) Measure of Economic growth

Return to scale
(1) is long term concept
(2) is short run concept

(3) means simultaneous increase in
fixed factors in same proportion

(4) means increase in variable factors

Long run equilibrium condition for a
perfect competitive firm is

(1) MR =SMC
(2) MR =LMC
(3) MR=MC=P=LAC
(4) SAC=LAC

03



94.

95.

96.

97.

03

Frefafga o fergent T 3t &t oM
T wrfher 8 fpar Siran @ 2

(1) e

(2) et

(3) i e

(4) siad i fersht ot wHEE

eafe=
(1) SEE 3§ gafed 2 |
) P I @ATEiEe |

(3) e (BIMARU) Tt i gfg &
gafa g |
(4) i =afe o @ gefea 2 |

Frafafaa # @ #iF @1 e g 6
guTefictar & et T8l & ?

(1) Tneres o1 aHfEe wmeA
2) Toreror faferat

(3) Toreres =1 fawaaeg 59
(4) TRrereh w1 wiieh &9

fpsirl o wrarRres it o1 e w0
&g fopa afiss &1 3T wailrs Iugw
A ?

(1) | TOT R ST

(2) wfEe afafe &1 SieH

(3) G SBivel W e oem

(4) TSR W fhed feam

N
wu

94.

95,

96.

0i.

Which is not included in calculation of

national income ?
(1) Dividend
(2) Rent

(3) Capital gain

(4) Commission on sale of shares

Hindu growth rate

(1) isrelated to population
(2)
3)

is related to infant mortality rate

is related to growth of BIMARU

states

4)

is related to per capita income
growth

Which of the following factors is not
related to the effectiveness of teaching ?

(1) Mental health of teacher
(2) Teaching methods
(3) Content-Knowledge of teacher

(4) Physical appearance of teacher

Which mode would you consider most
suitable for developing social skills in

adolescents ?

(1) Lecture on social qualities
(2) Organising group activities
(3) Essay writing on social skills

(4) Film show on socialisation
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98.

: 99,

| 100.

101.

According to Edger Dale’s ‘Cone of
Experience’, what kind of experience
the adolescent students will gain from
the Social Survey work ?

(1) Real Direct experience
(2) Dramatic experience
(3) Visual experience

(4) Verbal experience

Which teaching level will be effective
towards helping adolescents to learn
themselves and solve the problem
themselves

(1) Basic level

(2) Memory level

(3) Understanding level
(4) Reflective level

Which cognitive ability is desired for
development ~ of  creativity
adolescence period ?

(1) Divergent thinking
(2) Concrete thinking

in

(3) General thinking
(4) Convergent thinking

Which one of the following is not the
general characteristic ~ of  social
development in adolescence period ?

(1)
@
€)
(4)

Peer group influence
New social groupings
Search for identity
Harmonious with
parents

relationships
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102.

103.

104.

105.

Which of these factors negatively

affect learning ?

(1) Lack of Maturation

(2) Informational Feedback

(3) Meaningfulness of the content

(4) Appropriate communication

ability of teachers

the of

communication skills, which are used

Choose correct  pair

for receiving the information ?
(D
()
3)
4)

Speaking and Reading
Reading and Listening
Speaking and Writing

Listening and Writing

Which is not a general characteristic of

adolescence period ?

(1) It is a transitional period

(2) Itis a time of search for identity
(3) Itis atime of realism

(4) Tt is the threshold of adulthood

The emotion of ‘anger’ is associated

with which basic instinct of adolescent ?
(1) Escape

(2) Repulsion

(3) Pugnacity

(4) Appeal
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107.

108.

109.

110.

Rreqor whe & T wehia

(1) Treror & 3ewai ©
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(3) e o <t o foetor 9
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(1) e
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| 106.

108.

109.

110.

In the teaching models ‘The syntax’
refers to the

(1) Objectives of teaching

(2) Interactions of student and teachers
(3) Description of the model in action
(4) Additional requirement for teaching

. According to the moral development

theory of Piaget, adolescence period is —
(1) Stage of moral realism

(2) Stage of morality of constraint

(3) Stage of heteronomous morality

(4) Stage of autonomous morality

Which one of the following is not an
example of projected teaching aid ?

(1) Diorama

(2) Epidiascope
(3) OHP

(4) Magic Lantern

Which of the following is not a
characteristic of mentally healthy
adolescent ?

(1) Feeling of security
(2) Hypersensitivity
(3) Realistic perceptions
(4) Balanced Life

In the theory of social development,
who used the term ‘Role confusion’ in
reference of adolescence period ?

(1) Erikson
(2) Freud
(3) Bandura
(4) Hall
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111, SFR % HAHTS foeh™ fgra & STER 111. According to Bruner’s theory of

112. & i # gem € €
. BB K ; eriod are
(1) IrgfeaeTa ud Fata g P
' . ! (1) Irrational and Controlled
) FafawEds
3) gfeaand wd e
(3) kS 1 (3) Rational and Intense
(4) EIERIERREC algﬁ?l@'lﬁ (4) Uncontrolled and Irrational

112. The emotions in early adolescence

|
B9 & T @ K &Y eyioesen o i cognitive development which mode of
et g ? | thinking is related with adolescence
% period ?
(1) afsrarar fafy !
! (1) Enactive mode
2 yfemr fafer |
@ ; (2) Iconic mode
©) W%ﬁl ; (3) Visual mode
(4) |Thidqe Tty ] (4) Symbolic mode
|
|
|

(2) Controlled and Intense

113. o & s foerme & R | w9 @1

i 113. Which statement is incorrect about the

i
{
HUT A B 7 i physical development of adolescents ?
(1) feruiiTrereen & yom o= ot = g : (1) The first three years of
g si forer % w0 3 fafsa fr E adolescence are marked as rapid
IR | ; growth and development
l (2) In initial adolescence, girls grow
2) Ry fewaer # e, | i
& . ) 7 E faster than boys
STEH1 i gorT 1 oSl d Wl § |

(3) Adolescence reaches reproductive

(3) foruiteren wome uRuemdn a®
gl B |

(4) Tl ¥ WEF W " IEG B
femr T 7, forg wisfmal o @8
@1 HHAT R |

03 29 u |

maturity

(49) In boys the larynx is hardly

visible from the outside but in

girls it can be seen
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| 114.

i 115.

116.

According to Kohlberg’s theory of
moral development, choose the correct
code of moral stages under post
conventional morality

A. Social Contract Orientation

B. Punishment and  Obedience
Orientation

C. Instrumental Relativist
Orientation

D. Universal  Ethical  Principle
Orientation

Code:

(1) Aand B

(2) Band C

(3) Cand D

(49) Dand A

“Emotional Intelligence may be
defined as the capacity to reason with
emotion is four areas to perceive
emotion, to integrate it in thought, to
understand it and to manage it.”

This  definition of  emotional
intelligence is given by whom ?

(1) Mayer and Salovey

(2) Daniel Goleman

(3) William McDougall

(4) Charles Morris

Which is not the principle of
constructivist teaching ?

(1) New learning based on learner’s
previous knowledge

(2) Facilitation of social interaction

(3) Encouragement  of  passive
teaching

(4) Learner actively create and
interpret knowledge
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117. A teaching learning strategy, in which

118.

119.

120.

the students get opportunities to learn
by themselves in a small mixed ability
group which share all informations for
having the required knowledge, known
as —

(1) Team Teaching
(2) Co-operative learning
(3) Multi-sensory learning

(4) Programmed learning

Who is the propounder of Advance
Organiser Model ?

(1) Richard Suchman
(2) W.1J. Gordon
(3) David Asubel
(4) J.S. Bruner

Which one of the following is not an
obstacle for classroom communication ?

(1) Noise

(2) Ambiguity
(3) Prejudice
(4) Feedback

Science Inquiry model was designed
for
(1) to increase general intellectual
abilities

(2) to teach the research system of a
discipline

(3) to increase the efficiency of

information processing

to develop inductive reasoning
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125,
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122.

123.

124.

125.

. In

system approach, instructional
methods and strategies refers to
(1) Input
(2) Process
(3) Output

(4) None of these

Which one of the following is not a
proper way for nurturing mental health
of adolescents ?

(1) Providing suitable environment for
proper growth and development

@)
3)
(4)

Training of suppression of emotions
Arranging guidance services
Organizing recreational activities

What type of teaching aid would be
more suitable to demonstrate the
economical development of any
country ?

(1) Flow chart
(2) Line graph
(3) Map

(4) Picture

“Communication is the sharing of
ideas and feelings in a mood of
mutuality.”

This definition of communication
given by whom ?

(1) Edgar Dale

(2) Anderson

(3) Herbart

(4) Lewis

Co-operative learning strategy is
(1) Learner centered
(2) Teacher centered
(3) Content centered

(4) Environment centered
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128.
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126.

127.

128.

129,

The theory of consumer choice assumes

that consumer attempts to maximize

(1) The difference between Total

utility and Marginal Utility
(2) Average utility
(3) Total utility

(4) Marginal utility

Which of the following is NOT the
characteristics of Perfect Competition ?

(1)

Large Number of buyers and
Sellers

Advertisement
Free entry and exit of firms

Homogeneous products

According to which economist
“Economics is on the one side a study
of wealth and on the other and more
important side, a part of the study of
man” ?

(1) Adam Smith
(2) Keynes
(3) Marshall
(4) Robbins

Which central problem of an economy
is related to equality of income
distribution in society ?

(1) What to produce.
(2) How to produce.
(3) For whom to produce.

(4) Efficiency in use of resources.
O



130, i <5y B e e TR B S |

131.

132.
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130.

131.

132.

The price elasticity of demand is the
Percentage change in

(1) Price divided by the percentage

change in quantity demanded.

(2) Price divided by the percentage

change in demand.

(3) Quantity demanded divided by

the percentage change in price.

Demand  divided by
percentage change in price.

4) the

Which is not true about cardinal

analysis ?

(1) Constant marginal utility of
money

(2) Utility functions are additive

(3) Diminishing marginal utility of
money

(4) Utility can be quantitatively
measured

If Px is price of x and Py is price of y
and M amount of income, then the
point K in diagram is shown by

N

GOOd‘y 2

v

(1) Px
2) Bx
(3) Px
(4) Px:x+Py-
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133.

134.

135.

The shape of indifference curve, when
Marginal Rate of Substitution (MRS)
is zero :

(1) Downward sloping from left of
right

(2) L-shaped
(3) Horizontal line parallel to x-axis.

(4) Convex to the origin

If income elasticity is equal to one and
substitutional elasticity also equal to
then
demand for a good is
(1) 1
(2) 0

3 2

one, the price elasticity of

“4)

b9 | —

In given diagram the income elasticity
of demand at point R is

yo
Engel Curve

o \ Income

Qty. demanded
(1) Equals to one

(2) Greater than one

(3) Less than equal to one

(4) Equal to zero
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137.

138.

139.

a good slopes downward, price

elasticity of demand is
(1) Zero

(2) Equal to one

(3) More than one

(4) Less than one

For a negatively sloped straight line
demand curve the price elasticity (e,)

at y-axis is
(1) e, = @
(2) e, = Zero
(3) ¢ o 1

4) ep>1

The law of Diminishing Marginal
returns holds for a situation in which

)
2)
(3)

All inputs are variable
All inputs are fixed

Some inputs are variable and
some inputs are fixed

All inputs are increased in the

“4)

same proportion

When LAC curve is falling, then SAC
curve will be tangent to LAC at

(1) Falling portion
(2) Rising portion
(3) Minimum point
(4) Origin point
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| 140. If all the factors of inputs are doubled

37

141.

142.

and resultant output increases from
100 units to 180 units then

(1) There are increasing return to
scale

(2) There are decreasing return to
scale

(3) There are constant return to scale

(4) Nothing can be said about return
to scale

Which of the following is not correct ?

(1) In first stage of law of variable
proportion, the marginal product
of labour is positive

In first stage of law of variable
proportion, the marginal product
of labour is greater than average
product of labour

(3) In the second stage of law of
variable proportion, the marginal
product is less than the average

product of labour

(4) In the first stage of law of variable

proportion, the inflection point
the
product of labour

shows maximum average

Which of the following would result in
higher price elasticity ?

(1) More substitutes for a good.
(2) Shorter period of time considered
(3) Lower costs of labour

(4) The good is more of a necessity
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144.

145.

146.

the shape of LAC curve is
(1) Saucer shaped

(2) U-shaped

(3) L-shaped

(4) Inverted U-shaped

If the price elasticity of a commodity is
less than unity and price of commodity
falls, then the amount of total
expenditure on the commodity will

(1)
(2)
3)
“)

Decrease

Increase

Constant

Zero

Short run supply curve of a perfect
competitive firm

ey
2
3)

Always slopes upward
Always slopes downward

Is horizontal straight line parallel
to x-axis

Vertical line

)

Second order condition for the
equilibrium of a perfect competitive
firm in short run is

(1) MR=MC

(2) Slope of MR > Slope of MC

(3) Slope of MC > Slope of MR

(4) MC curve must be downward

sloping
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147.

148.

149.

150.

In case of monopoly of MR < 0, then
(1)
(2)

Demand elasticity is less than one

Demand elasticity is greater than
one

Demand elasticity is equal to one

Demand elasticity is zero

The circular test is an extension of
which test ?

(1) Unit test
(2) Time reversal test
(3) Factor reversal test

(4) Both factor and time reversal test

If Total Revenue does not change as a
result of a rise in price, it follows that
demand is —

(1) Perfectly inelastic
(2) Perfectly elastic
(3) Unitary

(4) Inelastic

The marks of 50 students were 20.
Later, it was found that the marks of
one student were misread as 7 instead
of 37. The corrected mean marks are

(1) 30
(2) 40.6
(3) 20.6
(4) 1030
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